I0

22102 25Y)
19:00~19:30

K0

19:30~21:00

oI J1 =1, WOl HI &1

(102 26Y)

17:30~19:00

oll
0

st

Al
<D
40
i
3l

e

=

ol
i1

00
80

K

)

oll

ol
Ul

oF

<
~J

I

19:00~19:30

19:30~21:30

i =Z21)

[}
[

J 8 Eel

ol

mJ
ol

ol
S

=l

=)

ol
3
0
if

il

£Q22(10€ 272)

oI J[ =1, WOIAH S, HEL-0LF0l =

Ld

)
L

uJ
wl

Wl

)

229102 28Y)
17:00~19:00

R0

2
=

2 2 XMl of

=
=

tJ1

110
RO
<
ok
o
3

222102 29Y)

-0i=)

ot0l=

(

A O
=]

H

= e

CIXIE 0

17:30~19:00

2l= E2 0S4 (=2 2 ED)



Cgs, da8telAa3

M RO
(SX=E

19:30~21:00
o 2 JHEIE MESHD|

=

ERY(M10E 302)
10:30~12:30 2 U =H(EHE)
Word Cloud / Reading: Unit 9/ Grammar: to2 & Al 1

oz AMMD|(2l=2s =SUHE SHAH)

13:15~14:45 QIS8 [§B £ (1 2)
- 03 2T YA EHER ol
18:00~19:00 QO HILHE 2f(SRHE)
- HIIAMC ANED BE



